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ABSTRACT

This paper discusses two distance computing models for TDMT : a distance model and
a similarity model. These models use a semantic dictionary (or thesaurus) with a
Directed Acyclic Graph (DAG) structure concept classification system, named the
Concept Classification Graph (CCG). The distance model computes the distance
between two expressions using the narrow concept set on a CCG. The similarity model
computes the similarity between two expressions using the broad concept set on a CCG.
These models are divided into 3 phase calculations, for expressions, for words and for
concepts. The calculations for the concepts use concept sets on a CCG, and the other
phases use the results of the next phase. In addition, a heuristic method for searching for
the shortest path between two concepts is provided with the distance model.

The experimental results have shown that the proposed models have few ambiguities,
but are slow. And, a comparison of the two models shows that the similarity model can
compute about 13 times as fast as the distance model, although it is a little more

ambiguous than the distance model.
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Symbols and Terms

1. Symbols
Symbol Meaning
v For all ¥.
Ty There exists a .
<X> X is a concept.
X EA x is a member of A.
AcB A is a subset of B.
xrev The edge from 7y toy.
Xev The edge from 7 toy, or from 'y to .
|A] The cardinality of a set A,
A®B The union of disjoint sets A and B.
P(A) The power set of a set A.
min X The minimum value of the variable X
max X The maximum value of the variable X
abs(X) The absolute value of X
2. Terms

Path : A node sequence [vy, Vi, ..., V4] is a path in a graph, if the graph has an edge
v, v, fori=1,.,n.

Chain : A node sequence [V, Vi,

edge v, , @ v,,fori=1,..,n.

Descendent : A node ¢ is a descendent of a node B on a graph, if a path [B, ..., a] is

in the graph.

Ancestor : A node « is an ancestor of a node B on a graph, if a path [0, ..., B] is in

the graph.

..., Va] is a chain in a graph, if the graph has an



Chapter 1.

Introduction

TDMT (Transfer-Driven Machine Translation) makes the most of the example-based
framework, which produces an output sentence using the closest translation example to
an input sentence. In TDMT, the semantic distance' between an input and a translation
example is measured in terms of a thesaurus hierarchy [TDMT]. Accordingly, the
performance of TDMT heavily depends on the choice of thesaurus. It is, therefore,
necessary to find an effective thesaurus and semantic distance computation method

using it.

Currently, TDMT uses the [Kadokawa] thesaurus® and [Sumita 92]’s method to
compute the distance using that thesaurus for Japanese-to-English and Japanese-to-
Korean translations. By the way, this method was developed considering only thesauri
as [Kadokawa] which have a balanced tree structure such as [Kadokawa], so it can not
be used in the many other thesauri such as [EDR 90], which have an unbalanced
structure [Fig. 1.1 (a)] and multiple-inheritance concepts [Fig. 1.1 (b)] in a graph.

Therefore, other methods based on a graph structure, which is an alternative to [Sumita
92], should be investigated.

<personal computer>

/ \ <organization> <building>
<IBMPC> <mac> \ A/

/ \ <institute>

<DOS/V><PC-98>
(a)

Fig. 1.1 Some concept classfications

! Some researchers call this ‘linguistic or conceptual’ in order to distinguish it from statistical or factual
relations.
? There are only two kinds of relationships in a thesaurus : hyponymy and synonymy.



For this purpose, we have studied the development of a new method to compute the
distance between linguistic expressions using a general classification structure of
semantic concepts. As a result, two distance computation methods, the distance model
and the similarity model, using a directed graph structure thesaurus were developed and

used to experiment on the concept dictionary of [EDR 90].

This paper introduces the two models and reports their preliminary experimental results.
In chapter 2, we define a concept dictionary model and introduce some definitions to be
used in our computations. In chapter 3, we describe the distance model and a heuristic
algorithm to search for the shortest chain. In chapter 4, we introduce the similarity
model. Lastly, in chapters 5 and 6, we report the experimental results of our models and

conclude this paper.



Chapter 2.

A Concept Dictionary

In this chapter, we define a concept dictionary model and some terms related to it. Then,

we introduce some sets to be used in our computations.

2.1 A concept dictionary

In order to develop distance computation models which can be applied to many kinds of
concept dictionaries, we introduce a virtual dictionary model defined in [Definition 2.1],
which classifies concepts using a general structure, Directed Acyclic Graph (DAG)

concept classification.

Definition 2.1.
A concept dictionary consists of a Concept Classification Graph CCG, a word set W

and a function Werd_Concept ;
® CCG <V,E,R> is a source Directed Acyclic Graph, where ;

V : The set of nodes or concepts
E : The set of edges on V. An edge x s y represents thaty is a kind of x.

R : The root node of the CCG.

® Word Concept:w — p(V)
Vo eW, Word_Concept(w) ={ala eV, a can be named w}

Example 2.1. The concept dictionary used in this paper as a example.

® CCG
R
/N
P, P,
/N
C, C, Cs

Fig. 2.1 An example of a CCG



® Wordset : W={0w,w, 0}

® Function Word_Concept :

Word_Concept(w,)={P,, Cs}
Word_Concept(w,)={C,}
Word_Concept(wg)={P,}

The following definitions are terms related to a CCG. LCA [Definition 2.2] is used in
the concept distance computation of chapter 3 and the similarity computation of chapter
4. And, GCD [Definition 2.3] is used in the shortest chain searching algorithm of
chapter 3. |

Definition 2.2.
A Lowest Common Ancestor concept (LCA) of two concepts o and B, is an upper
concept which does not have any descendent concept which is a common ancestor of @

and 3 on a given CCG.

Definition 2.3.
A Highest Common Descendent concept(HCD) of two concepts a. and B, is a lower
concept which does not have any ancestor concept which is a common descendent of o

and 3 on a given CCG.

Example 2.2 .
LCAs and HCDs: In [Example 2.1}, the following are true.

1. LCA of C1 and CQ, is P1

2. LCA of Cs and Cs, is Py and P,
3.LCAof Pyand P,, is R :

4. HCD of Py and Py, is C, and Cs

2.2 The quantification of a concept

Certainly, a concept can be grasped from the viewpoint of quality ; however, it should
be represented in terms of quantity for computation. For this, we use two kinds of set : a
set of narrow concepts and a set of broad concepts. These sets can be explicitly defined
with a given CCG.

The narrow (or sub) concepts of a concept are itself and the concepts with a narrow



meaning to specify the concept more concretely. For example, in [Fig. 2.1], the narrow
concepts of R are all concepts, and the narrow concepts of Py are Py, Cy, Cz, and C3. We
can consider the narrow concept set of a concept as the partition (or domain) of the

concept on the total concept.

We used narrow concepts to compute the distance between two concepts. On a CCG,
these are represented by the descendants, so the set of narrow concepts is defined as
[Definition 2.4]

Definition 2.4.
The set of narrow concepts of a concept o given a CCG :

NCS(a) ={x|Vy, yis a descendant of ain the CCG}

The broad (or super) concepts of a concept, reversely, are itself and the concepts with a
wide scope of meaning to cover all concepts exhaustively. For example, in [Fig. 2.1],
the broad concepts of C; are Cy, Py and R, and the broad concepts of C, are Cy, Py, P,
and R. We can consider the broad concept set as the constituent (or feature) set of that
concept, because the meaning features of that concept are inherited from these broad

concepts.

We use the broad concepts to compute the conceptual similarity between two concepts.
On a CCG, these are represented by the ancestors, so the set of broad concepts is
defined as [Definition 2.5]

Definition 2.5.
The set of broad concepts of a concept & given a CCG :

BCS(a) ={y|Vx.x is an ancestor of a in the CCG}

Example 2.3 .
NCSs and BCSs of all concepts in [Example 2.1]

LLNCSR) ={R, P,P2,C;,C5,C3}, BCSR)={R}

2.NCS(P;) = {P1,C,Cs,C5 }, BCS(P))={P,,R}
3.NCS(Py) = { P5, Cy, C3 }, NCS(P,)={P.,R }

4. NCS(Cp)={C, }, BCS(C)) = {C,P;,R}
S.NCS(Cp)={C,}, BCS(Cy) = { C2, P, P2, R }
6. NCS(C3) ={C3 }, BCS(C3)={C;3,P1, P2, R }



Chapter 3.

Distance Computation

In this chapter, we introduce a distance measure using the NCS of concepts to compute

the concept distance between linguistic expressions.

3.1 The distance between two expressions

It is desirable to compute the linguistic (or semantic) distance of two expressions with
the whole meaning of two expressions, but it is not easy to understand an expression
and describe its semantic structure. Assuming that the distance of each word pair in the
expressions is known (see 3.2), we defined the distance between the two expréssions as

the average of the word distances like [Definition 3.1].

Definition 3.1.
The distance between two expressions I, and E; which have n words, and Word_DisT()

is defined in section 3.2. :

Let I, ={i,i,,...i, ], €, =le.e,...e,]

Y Word_DisT(i,e;)
Exp_DisT (I, ,E, ) =

n

It is necessary to pursue other methods which offer greater validation and efficiency,

since this computation is simple but has weak validation.

3.2 The distance between two words

The concepts of a word may be various, so the concept distance computation of words
must be able to disambiguate this. The best solution, naturally, is to select the concept of
a word according to the context of the expressions, but it is also necessary to understand
the expressions. Assuming that the context is unknown, a human being probably selects
the minimum distance of all of the concept pairs of two words as the distance of the two

words. So, we define it as [Definition 3.2], like a human.



Definition 3.2.

The distance between two words :
Word_DisT(w, ,w,) = min Concept_DisT(a,,a,),

; a, eConcept(w,), a, € Concept(w, )

Example 3.1.
The word distance between (), and ), in [Example 2.1] : The (C;,C,) and (P4, C,) are

the possible concept pairs. If the concept distance between Pjand Cy is 3, and the

distance between C, and Cg is 5 then :

Word_Concept(w,)={P,, C3}
Word_Concept(w,)={C,}

Word_DisT(t,,0,) = min (Con_DisT(P,, C,), Con_DisT(Cs, C,))
= min (3,5) = 3

When the words are the heads of expressions, the word distance is defined by the sum of
the word distance of the head words and the expression distance of these expressions in
[Definition 3.3]

Definition 3.3. The word distance between two expressions €; and &

Let w; be the head of €; and wx,, be the head of &;.
Word_DisT(g, ,&,) = Word_DisT(w,w,) + EXP_DisT(g, &, )

3.3 The distance between two concepts in a CCG

Intuitively, the relation of two concepts in a CCG is described by the concepts that link
the two concepts, and the distance between the two concepts is reflected by the sum of
each link length. In [Kim 93], the length of the shortest chain which has two concepts as
the end points, is the distance between the two concepts'. By introducing this idea to our
study in [Definition 3.4], we defined the distance between two concepts as the length of
the shortest chain, as shown in [Definition 3.5].

" However, this paper only defines the length of the chain by the summation of the length, and does not

define the weight of the length explicitly.




Definition 3.4. _
The length of a chain [0,0y,...,0,;] is the summation of all the lengths of the edges
[Definition 3.6] in the chain, as follow :

Chain_Length([aw,au,...,00])=) Edge_Length(e,, & a;)

Definition 3.5.
The distance between two concepts is the minimum length of all chains which have the

two concepts as end-points.

Concept_DisT («, 8) =[mi|2] Chain_Length(la,..81);

Example 3.2.
The concept distance between C, and C; : When the numbers in [Fig. 3.1] are the edge

lengths, then we know that the shortest chain is [C4, Py, Cgl.

Fig. 3.1 An example CCG

Therefore the distance is the sum of the two edge lengths in the following.

Concept_DisT(C,, C;) = Chain_Length([C,, P,, Cj])
= Edge_Length(P,, C,) + Edge_Length(P,,C;) =3 +3 =6

In [Definition 3.5], the length of the edge is the very distance between two adjacent
concepts such that one is a parent and the other is its child. The distance between a
parent P and a child C; may be evaluated by the difference in these concepts, the black
section in (a) of [Fig. 3.2]. For example, C, has less difference or larger intersection

with P than Cj, so we can think that C, is conceptually closer to P than C;.

10



() (b)

Fig. 3.2. A Concept Distance

A concept difference can be described‘by the difference of NCS [Definition 2.4] of the
concepts, i.e., the black section in (b) of [Fig. 3.2]. As a result, the edge length is
defined as the cardinality of the difference set of the parent’s NCS and the child’s NCS
like [Definition 3.6].

Definition 3.6. The length of the edges
Edge_Length(p > x) =INCS(p) ® NCS(x)|=INCS(p) -NCS(y)|

Example 3.3.
All of the edge lengths in a CCG of [Example 2.1] are represented in [Fig. 3.1]. The
length of R P, is computed like this :

NCS(R) = { Ra Pla P2a Clv C27 C3 }s NCS(PI) = { Plv CI’ C2’ C3 }

Difference(R, P;) = NCS(R) - NCS(P)) = {R , P,}
Edge Length(R P, )=INCS(R) - NCS(P)! =2

3.4 Searching for the shortest chain

The distance computation, or the search for the shortest chain between two concepts in a
CCG, is the most time consuming part of this method and directly affects the system's
performance. In this section, we describe an attempt to find an effective search

algorithm for use in this model.

To solve this problem of computation time, we first tried a "greedy" technique, well
known as Dijecstra's algorithm [AHO 82]. This algorithm searches for the shortest paths

11




from a single source to all destinations and has time bounded by O(e log n): e is the
edge number and n is the node number. But, this technique turned out to be so
inefficient for our system that we could not obtain any desirable results and switched to

another algorithm.

Next, we developed a heuristic algorithm considering some of the properties of a CCG.
To identify about all chains between o, and B, if o is an ancestor of 3, then the shortest
path length is simply INCS(B)] — INCS(ct)|. But, if not :

1. The paths which have an LCA of a and B are longer than the paths which do not
have it.
2. Among two paths having an HCD, the path which has the bigger HCD is shorter.

We define the term GCD as [Definition 3.7] and describe our algorithm as follows.

Definition 3.7.
A concept’s Greatest Common Descendent concept (GCD) between two children is the

common descendant of the children which has the biggest NCS.

Example 3.4.
In Fig. 2.1, the GCD of R between P; and P, is Cy, if INCS(Cy)! is greater than
INCS(C)I.

Algorithm 3.1 Concept_Distance(a,, B)

Begin
Find the least LCA of o and B (1]
if LCAis o or B itself then Concept_Distance = abs(INCS(c)! - INCS(B)I) [2.1]
else if GCD of LCA on the branches of o and P exist (2.2]
then Concept_Distance = Concept_Distance(c,,GCD) + Concept_Distance(B,GCD) [2.2.1]
else Concept_Distance = 2 * | NCS(LCA)! - (INCS(c)! + INCS(B)!) [2.2.2]
End

In Algorithm 3.1, the lines [1] and [2.2] clearly take O(n) time, and [2.1] and [2.2.2]
take O(1). But, [2.2.1] takesO(n?) in the worst case when the CCG is skewed. As a result,
the total time spent in this algorithm is bounded byO(n?).

Example 3.5.
A distance computation between D and F with Algorithm 3.1

12



QY
D B F

Concept_Distance(D,F)
1. [1] :LCAofDandFis A
2. [22] :GCDofAisE
3. [2.2.1]: Concept_Distance(D,E)
4, [1] :LCAofDandEisB
5. [2.2.2]: Concept_Distance(D,E) =2 * I NCS(B)! - (INCS(D)l + INCS(E)) =2*3 - (1+1) =4
6. RETURN
7. [2.2.17: Concept_Distance(E,F)
8. [1] :LCAofDandEisC
9. [2.2.2]: Concept_Distance(E,F) = 2 * | NCS(C)! - (INCS(B)! + INCS(F)l) = 2%3 - (1+1) = 4
10. RETURN
11. [2.2.1]: Concept_Distance(D,F) = Concept_Distance(D,E) + Concept_Distance(E,F) =4+ 4= 8
12. RETURN

13



Chapter 4.

Similarity Computation

In this chapter, we introduce a linguistic similarity measure, which is regarded as the

size of common concepts.

The similarity of concepts is the relative size of the common concepts compared to the
union of the two concepts, as shown in [Fig. 4.1]. Then, when the two concepts are the

same, the similarity is 1, and when they are completely different case, the similarity is 0.

>
D)
w

Similarity(A,B) =

>
C
w

Fig. 4.1 The similarity of A and B

4.1 The similarity between two expressions

To compute the similarity between two expressions, first it is necessary to get the
concept of each expression. By the way, the concept of an expression is combined with
the concepts of words, but it is also very difficult to know the exact combining method
and to discern the common concept from the complex concepts of an expression.
Without any linguistic or statistic knowledge, this model computes the similarity of

expressions by the similarities of each word pair and the following assumption.

Assumption 4.1.
The similarity of each word pair (A,B) of two expressions is the probability gained by
statistical observation, and the only thing which affects the probability is its word pair,

which is statistically independent on each other.

With this assumption, we can imagine that the similarity between two expressions can

14



be described by the multiple of all similarities of each word pair in expressions like
[Definition 4.1 ].

Definition 4.1 .
The similarity between two expressions I, and E, which have n segments :

Let 1, =[i, ..., ), E, =[eye,..e,).

Exp_SimT(I,.E,) = [ Word_SimT(i,.e))

4.2 The similarity between two words

The concepts of a word may be various, so the concept similarity computations of words
also must have the solution to this ambiguity. Like [Definition 3.2], with the assumption
that the context is unknown and according as the behavior of a human being, we define
the maximum similarity of each concept pair in words, [Definition 4.2], as the similarity

of the words.

Definition 4.2.
The word similarity between two words ®, and o,

Word_SimT(w, ,w,) = max Con_SimT(«, ,a,)

When, o, eConcept(w,), @, e Concept(w, )

Example 4.1.
The word similarity between ®, and , in [Example 2.1} : (C,,C3) and (P4, C;) are the

possible concept pairs. As in Example 4.2, the concept similarity between P,and C, is
0.67, and the similarity between C, and C3is 0.4 then :

Word_Concept(w,)={P,, C5}
Word_Concept(w,)={C,}

Word_SimT (w,,w,) = max (Con_SimT(P,, C,), Con_SimT(C,, C,))
— max (0.67, 0.4) = 0.67

In the case where words may be expressions in [Definition 4.2], the word similarity of
these expressions is defined by the multiple of the word distance of the head words and

the ratio of the similarity of the expressions, [Definition 4.3].

15



Definition 4.3.

The word similarity between two expressions € and &

Let ; be the head of €; and o, be the head of &;, then
Word_SimT(g, ,&,) = Word_SimT(w, w,) x EXP_SimT(g,&, )

4.3 The similarity between two concepts in a CCG

In this research, the more general concepts including two concepts are considered to be
the common concepts of the two concepts. For example, <color> and <non physical
object> may be some common concepts of <green> and <red>. And, <bird>, <animal>
and <physical object> may be common concepts of <bird> and <hawk>. In a CCG,
these common concepts are the intersection of the BCS [l)efinition. 2.5] of the two

concept.

Therefore, we define the similarity as the relative size of the intersection of the BCS of
the two concepts compared to the union of the BCS of the two concepts, [Definition
4.4].

Definition 4.4.
The similarity between two concepts in the given CCG
Con_SimT(a, g) = 1BCS(@) nBCS(B)]
|BCS(a) UBCS(B)]

Example 4.2.
The similarity between C, and C,, and between C, and P, in [Example 2.1].

BCS(P,) = { Py, R}, BCS(C,) ={Cy, P;, R}, BCS(Cs) ={Cs, Py, P, R}
I{R P} 2

Con_SimT(C,,C, )= —=0.4
[{R,P,P,,C,C, }l 5
. [{R,P } 2
Con_SimT(P,,C,)= —>1t* _=-_=0.67
VU R,RLCH B

In this example, C, and C2 have {P;, R } as a common concept set and {R, Py, P;, C,
Cs} as a union, so the similarity between C; and C; is 0.4. On the other hand, the

similarity between P and C, is 0.67, so we think that C; is more similar to P, than Cs.

16



Chapter 5.

Experimentation

We have experimented on the performance of our computation models by replacing our
models with the distance calculation mechanism of the present TDMT system. Using
Japanese-to-English translation for 158 untrained sentences about hotel room
reservations, we compared the two models proposed here, which use the EDR thesaurus,
the model proposed by [OI 95], which also uses the EDR thesaurus, and the present
system's model proposed by [Sumita 92], which uses the [Kadokawa] thesaurus.

The translation results of the four methods are presented with their distance (or

similarity) values in the [Appendix].

[O1], [SeoDis], [SeoSim], and [Sumita] represent the distance computing methods of
[OI 95], our distance computing method explained in Chapter 3, our similarity
computing method explained in Chapter 4, and the distance computing method of

[Sumita 92], respectively.

For all four methods, the same number of sentences, 114 of 158, resulted in output

sentences.

As for translation quality, we could not conclude the superiority of our methods because

the amount of the system's example training can be considered insufficient.

There were no conspicuous differences in output quality between the four methods.
Although the present system's method, [Sumita 92] seemed to present slightly inferior
results, this might have been caused not by the computation mechanism, but by the

utilization of the different thesauri.

[Graph 5.1] shows the average number of best outputs for the 114 sentences, which

were counted excluding the cases with no output.

17



Sumita 2.87

Oi 9.25
SeoDis 2.15
SeoSim 2.32

Graph 5.1

[Graph 5.2] shows the average translation time for the 158 sentences.

Sumita 0.43

Oi 2.19
SeoDis 119.14
SeoSim 8.89

0 50 100 150

Graph 5.2

From [Graph 5.1] and [Graph 5.2], for the methods which used the EDR thesaurus, it is
evident that the determination technique of the best-one output in [Oi], and the efficient

computation technique in [SeoDis] are necessary.

However, these four methods can be considered to be more applicative and promising

for translation quality, since they can be used with the general and complicated thesauri.

18



Chapter 6

Conclusion

In this research, we have studied the development of a new method to compute the
distance between linguistic expressions using a general semantic concept classification
structure for TDMT. As a result, we proposed two distance computation models : the
distance model and the similarity model, using a semantic dictionary with a DAG

structure concept classification, defined as the CCG.

The distance model computes the distance between two expressions using the narrow
concept sets of each concept on the CCG, regarding the narrow concept set of a concept
as the partition (or domain) of that concept on the total concept. And, the similarity
model computes the similarity between two expressions using the broad concept sets of
each concept on the CCG, regarding the broad concept set of a concept as constituent

(or feature) set of that concept.

The proposed models can also be profitably applied to other systems which use a DAG
structure thesaurus as the linguistic knowledge for the semantic distance computation of
linguistic objects. Especially, document retrieval systems can use the word distance

computations of the proposed models to obtain matching documents and queries.

The similarity model may be used effectively for Context Sensitive Grammar parsing,
providing that it can use A* algorithm to search for the optimal parsing tree. The tree

weight, by similarity, is always smaller than its subtrees.

The distance model takes a lot of time, because it has to search for the shortest path on
the CCG, known as a NP-hard problem. We proposed a heuristic algorithm of O(n?)
using some of the properties of the CCG, but the proposed algorithm does not ensure the

optimal results for all cases.

Ignoring accuracy, we know by the experimental results that the proposed models have
few ambiguities, but take a lot of time to compute. And, comparing the two proposed
models, The processing of the similarity model is about 13 times as fast as that of the
distance model, although the similarity model is a little more ambiguous than the
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distance model.

As future study, we need to develop other, efficient algorithms that ensure the optimal
solution for the distance model and to experiment on the accuracy of these models with
a large amount of data. Also, the expression computation phase in the distance model,

whose validation is weak, should be studied more.
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Appendix

1 (3 "HE»LFEELAL™

[0i

[SeoDis] (("It came from japan" .

1 (("It came from japan"

[SeoSim] (("It came from japan'

[Sumita] (("Came from japan"

. 0.7222222))
14.116209))
. 0.092436984))

. 0.500005))

2 (J "ot RREIERL TS LWTTE )

[0i ] nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

3 "SHERTEIETOCTHABHFLLRER")

[oi 1 (1
[SeoDis] (("I
[SeoSim] (("I
[Sumita] (("I

4 (J "HLRCEWERALE I XL bETFHER s T AL I TTREELLTCETFHENRE Lieh )

[oi 1 (("I'm
where
("I'm
where
("I’m
where
("I'm
where

[SeoDis] (("I’m

where
("I’'m
where

[SeoSin] (("I’m

where
("I’m
where

[Sumita] (("I’m

where

am

am

am

checking now .

am checking now .

checking now .

checking now

afraid it seems
did you reserve
afraid it seems
did you reserve

afraid it seems

i reserved" . 7.

afraid it seems

i reserved" . 7.

afraid it seems
did you reserve
afraid it seems
did you reserve
afraid it seems
did you reserve
afraid it seems
did you reserve
afraid it seems

did you reserve

. please wait a

. 0.33333835))
. 4.6464334))

. 0.30738464))
. 0.57143646))

please wait a moment"

please wait a moment"
please wait a moment"

moment"

to be arrange not a reservation .

. 7.30557)

2n

to be arrange not a reservation .

7™, 7.30557)
to reservation .

30557)

be arrange not a
to be arrange not a reservation .
30557))

to be arrange not a reservation .
?'" . 27579.895)

to be arrange not a reservation .
?" . 27579.895))

that a reservation i don’t arrange .
?'" . 2.3662508e-17)

that a reservation i don’t arrange .
. 2.3662508e-17))

that a reservation i don’t arrange .

. 6.075413))

Al

2n

5 (J "EOENICRETHND D EEAL™

[0d

("There
("There
("There
[SeoDis] (("There

isn’t a reservation in the name"

isn’t a reservation the name'

] (("There isn’t a reservation at the name" . 1.0555656)
aren’t a reservation they at the name" . 1.0555656)
isn’t a reservation in the name" 1.0555656)

. 1.0555656))
. 353.06976))
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[SeoSim] (("There isn’t a reservation the name" . 0.0098568015))

[Sumita] (("There isn’t a reservation on the name" . 0.9889023))

6 (J "HROKTEETTFHLELAE™

[0i 1 (("I reserved in the travel agency from tokyo" . 0.7222222))
[SeoDis] (("I reserved in the travel agency from tokyo" . 230.0079))
[SeoSim] (("I reserved in the travel agency from tokyo" . 0.016968329))
[Sumita] (("I reserved in the travel agency from tokyo" . 0.44444945))

7T QS —EREATEERY)

[0i ] (("Please check once more'" . 0.88888896))
[SeoDis] (("Please check once more" . 57.2136))
[SeoSim] (("Please check once more" . 0.07826087))
[Sumita] (("Please check me once more" . 1.0238096))

8 (J "HERBEBRELTTH")

[0i ] (("Do i have the confirmation slip ?" . 5.0e-6)
("Has the confirmation slip ?" . 5.0e-6))

[SeoDis] (("Does have the confirmation slip ?" . 50000.395)
("Does have the confirmation slip ?" . 50000.395))

[SeoSim] (("Do i have the confirmation slip ?" . 0.10703572)
("Has the confirmation slip 7" . 0.10703572))

[Sumita] (("I have the confirmation slip" . 0.35898745))

9 (J "HwvdoTwET")

[0i ] (("Yes, i have" . 5.0e-6)
("Yes, it has" . 5.0e-6)
("Yes, has" . 5.0e-6))

[SeoDis] (("Yes, i have" . 5.0e-6)
(""Yes, it has' . 5.0e-6)
("Yes, has" . 5.0e-6))

[SeoSim] (("Yes, i have" . 0.999))

[Sumita] (("Yes, i have" . 5.0e-6))

10 J "chHEESTT™
[0i ] (("That’s right this" . 6.0)
("This is that’s right" . 6.0))
[SeoDis] (("That’s right this" . 50000.0)
("This is that’s right" . 50000.0))
[SeoSim] (("That’s right this" . 4.6709952e-11)
("This is that’s right" . 4.6709952e-11))
[Sumita] (("That’s right this" . 6.083336))

11 J "B HERCERTET L E 5 ADTTAE)

[0i 1] (("No, i’m afraid forgot on japan" . 3.1111262)
("No, i’m afraid forgot to japan" . 3.1111262)
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("No, i’m afraid i forgot on japan" . 3.1111262)
("No, i’m afraid i forgot to japan" . 3.1111262))
[SeoDis] (("No, i’'m afraid forgot on japan" . 668.5977))
[SeoSim] (("No, i’m afraid i forgot to japan" . 3.047762e-4))
[Sumita] (("No, i’m afraid i forgot to japan" . 3.0833535)
("No, i’m afraid i forgot to japan" . 3.0833535))
12 (J "KfTettibsH 0 ¥4 ")
[0i 1 (("Do you know the travel agency 7" . 0.3888889)
("I know the travel agency" . 0.3888889))
[SeoDis] (("Do you know the travel agency ?" . 125.614136)
("I know the travel agency" . 125.614136))
[SeoSim] (("As for the travel agency , do you know 7" . 0.1)
("As for the travel agency , i know" . 0.1))
[Sumita] (("Do you know the travel agemncy ?" . 0.375005)
("I know the travel agency" . 0.375005))

13 (3 "Hfr&ttiiba kI

. 0.3888889))

[0i 1 (("I know the travel agency"

[SeoDis] (("I know the travel agency" . 125.614136))
[SeoSim] (("As for the travel agency , i know" . 0.1))
[Sumita] (("I know the travel agency'" . 0.375005))

14 (J "CREFTLHDERIZEL T EEI W)

[0i 1 (("Well,
("Well,
("Well,
("Well,
("Well,
("Well,

[SeoDis] (("Well,

("Well,

[SeoSim] (("Well,

("Well,
[Sumita] (("Well,
("Well,

please

please

. 0.44444945)
the name of the travel agency" . 0.44444945)
0.44444945)

please tell the name of the travel agency"
tell
tell
tell
tell
tell
tell
tell
tell
tell
tell

tell

please
please the travel agency name" .
me the name of the travel agency"
me the name of the travel agency"
. 0.44444945))

. 223.65483)

please me the travel agency name"

please the name of the travel agency"
me the name of the travel agency"
0.0998001)

0.0998001))

. 0.33333835)

please
please the travel agency name" .
please me the travel agency name" .
please the name of the travel agency"

please me the name of the travel agency"

156 J " b b THERBAZLET ™)

[oi 1 ("I will

check here" . 0.22222222))

. 0.44444945)
. 0.44444945)

. 223.65483))

. 0.33333835))

[SeoDis] (("I will check here"
[SeoSim] (("I will check here"
[Sumita] (("I will check here"

16 (J "LoE5 OBOMEE BH
[0i ] (("You would arrange

("I would like to ro

. 7.099375))
. 0.30769232))
. 0.023813816))

LiewDCIBeosThoi T
would you take ?" . 7.1111164)
. 7.1111164)

a room on an upper floor .

om on an upper floor . would you take 7"
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("I would like to have a room on an upper floor .

[SeoDis] (("I would like to have a room on an upper floor .

would you take
would you take

21

2n

. 7.1111164))
. 50189.543) )
. 2.413616e-12))

[SeoSim] (("I would like to have a room on an upper floor .

[Sumita] (("You would arrange a room on an upper

("I would like to have a room on an upper floor .

17 (J "BETTETOROBHBELIZEWTE)EEAM)
[0i 1 nil
[SeoDis] nil
[Seo0Sim] nil

[Sumita] nil

18 (J "Z=RrabETRIBLWTTR"

[0i ] (("Third floor , but is that all right ?"
. 1.75))

("Third floor , but that is good"

[SeoDis] (("Third floor , but is that all right 7"
. 1706.9265))

("Third floor , but that is good"

[SeoSim] (("Third floor , but is that all right 7" .
. 5.6012803e-4))

("Third floor , but that is good"

[Sumita] (("It is third floor , but is that all right 7"
("It is third floor , but that is good" .

19 0 "R KDV BEEESE-LET ™

[0i 1 (("I would like to have a room with the
("I would like to have a room with the

[SeoDis] (("I would like to have a room with the
("I would like to have a room with the

[SeoSim] (("I would like to have a room with the
("I would like to have a room with the

[Sumita] (("I would like to have a room with the

("I would like to have a room with the

20 (J "BEKFLERDWTWETH")

[0i 1} (("Is there the television in a room ?" .
("Is there the television in a room 7" .
("Is included in the television in a room ?"
. 0.33333334)

("There is the television in a room"

("There is the television in a room" .

("It is included in the television in a room"

. 0.33333334))

("There is the television in a room"
[SeoDis] (("Is there the television in a room 7"

("There is the television in a room"

("There is the television in a room"
[SeoSim] (("Is there the television in a room 7"

[Sumita] (("Is there the television in a room 7"

25

would you take 7"
. 7.3333383)
7.3333383))

floor . would you take 7"

would you take ?" .

1.75)

. 1706.9265)

5.6012803e-4)

. 1.8333334)
1.8333334))

fine view , if possible" . 1.0e-5)

fine view , if possible" . 1.0e-5))
fine view , if possible" . 1.0e-5)

fine view , if possible" . 1.0e-5))
fine view , if possible" . 0.99800104)
fine view , if possible™ . 0.99800104))
fine view , if possible” . 1.0e-5)

fine view , if possible” . 1.0e-5))

0.33333334)
0.33333334)
. 0.33333334)

0.33333334)
. 0.33333334)

108.68672)
108.68672)
108.68672))

. 0.23076923))
. 0.16666667))



21 J "BRch ) ETHEO>wTEIET)

[Di ] (("It will be pay , but is included" . 1.8611112)
("It is pay , but is included" . 1.8611112)

("It pay , but is included" . 1.8611112)
("Pay , but is included" . 1.8611112))

[SeoDis] (("It is pay , but is included" . 711.36646))

[SeoSim] (("It is pay , but is included" . 0.0012531328)
("It pay , but is included" . 0.0012531328)

("Pay , but is included" . 0.0012531328))

[Sumita] (("It is pay , but is included" . 1.0394837)

("It pay , but is included" . 1.0394837)
("Pay , but is included" . 1.0394837))

22 (J "BEZwOITHHFEZLETTH")

[0i ] (("Can i use the hot water at any time 7" .

[SeoDis] (("Can use at any time the hot water 7' .

[SeoSim] (("Can i use the hot water at any time 7" .

[Sumita] (("Can i use the hot water at any time 7" .

23 (J "woTHHES T EHBHEET ")

[0i J (("I can use at any time" . 1.888889))

[SeoDis] (("I can use at any time'" . 530.25793))

[SeoSim] (("I can use at any time" . 0.014545455))

[Sumita] (("It will use at any time" . 1.7777778)
("I will use at any time" . 1.7777778))

24 (U " LFELA RN S CLALT S RTHEHIHKEW )
[0i 1 (("If it not can uses , please contact me
("If can’t use , please contact me right
[SeoDis] (("If can’t use , please contact me right
[SeoSim] (("If can’t use , please contact me right
[Sumita] (("Please do not contact me in the case of

("Please do not contact me in the case of

25 U "HLXbokoBEEFRLTHLATTH™

1.3333384))
721.1647))
0.02833117))
1.0555656))

right away" . 2.3333435)

away" . 2.3333435))

aﬁay" . 166.9317))

away" . 0.005811341))
it seems that can use right away" . 2.000019)
it seems that can use right away" . 2.000019))

[Di ] (("When i good , do i found you would show a room 7" . 4.8055606)

("If good , would you show a room 7" . 4.

8055606))

[SeoDis] (("If good , would you show a room 7" . 25343.38))
[SeoSim] (("Would you show a room to good 7" . 5.573278e-13))

[Sumita] (("If good , would you show a room 7" ., 4.

26 (J "bo b REAFBRAD Y LA

[oi ] (("Is there a larger room 7" . 1.1111112)
("Isn’t there a larger room 7" . 1.111111

[SeoDis] (("Is there a larger room 7" . 446.08853)
("Isn’t there a larger room 7" . 446.0885

26

5416718))

2))
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[SeoSim] (("Is there a larger room 7" .

[Sumita] (("Is there a larger room 7" .

27 (J "R ETH")
[0i ] (("Is the deposit necessary 7"

0.06976744))
0.9166667))

. 0.0)

("Will the deposit be necessary ?" . 0.0)

("Is the
("Is the
("Is the
[SeoDis] (("Is the

deposit necessary 7"

deposit necessary 7"

deposit necessary 7" .

. 0.0)

deposit necessary 7"

. 0.0)
. 0.0)
0.0))

("Will the deposit be necessary 7" . 0.0)

("Is the deposit necessary 7"

("Is the deposit necessary 7"

("Is the deposit necessary 7"

[SeoSim] (("Is the deposit necessary 7" .
. 0.0))

[Sumita] (("Is the deposit necessary 7"

28 (J "whEgA™
foi ] (("I amn’
[SeoDis] (("I amn’
[SeoSim] (("I amn’

[Sumital (("I amn’

t"

t" .
t" .

tH

. 0.0))
0.0))
1.0))
. 0.0))

29 ("I vVy Y A-YRELETHL")

[0i 1 (("Can i use the credit card 7"
[SeoDis] ((''Can use the credit card 7" .
[SeoSim] (('"Can i use the credit card 7" .

[Sumita] ((""Can i use the credit card 7" .

. 0.0)
. 0.0)
. 0.0))
1.0))

. 0.44444445))

111.451355)

5.0e-6))

30 J"I—YRITATAZRZ—LELELA")

[0i ] nil
[SeoDis] nil
[SeoSim] nil
[Sumital nil

31 (J"A—FHREVFATLZEDENTOHEETT "

[0i 1 (("Which is the card good on cash dollar"

("Which
("Which
[SeoDis] (("'Which
[SeoSim] (("Which
[Sumital (("Which
("Which
("Which
("Which
("¥hich

is
is
is
is
is
is
is
is

is

good on the card cash dollar" .

good on cash dollar the card" .

good on cash dollar"

the card good on cash dollar”

cash the card a good dollar" .

cash the card a good dollar" .

)

0.16216215))

. 2.7222223)

2.7222223)
2.7222223))

. 2741.2227))
. 3.6221394e-6))

8.222227)
8.222227)

cash the card good on the dollar" . 8.222227)
cash the card good in the dollar" . 8.222227)

cash the card good in the case of the dollar"

27
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32 (J "HEICEEFTOTEHLOITFTER")
foi ] nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

33 (J "HBEHLEL LSS

[0i ] (("How many days could i take ?" . 0.7222272))
[SeoDis] (("How many days could i take 7" . 222.98877))
[SeoSimj (("How many days could i take ?" . 0.035678573))
[Sumital (("How many days could i take ?" . 0.77273226))

34 (J "G b=EEEHLET™ .

[oi 1 (("For three nights from this evening , please" . 0.33333334))
[SeoDis] (("For three nights from this evening , please" . 158.45134))
[SeoSim] (("For three nights from this evening , please" . 0.2))
[Sumita]l (("For three nights from this evening , please" . 0.33333334))

35 (J "EEWRBEDDETHI)
[0i 1 nil
[SeoDis] nil
[SeoSim] nil
[Sumital] nil

36 (J "AHOEHSTTH™

[0i 1 (("The stay for today 7" . 0.0)
("The stay for today 7" . 0.0))

[SeoDis] (("The stay for today 7" . 0.0)
("The stay for today 7 . 0.0))

[SeoSim] (("The stay for today 7" . 1.0))

[Sumital (("The stay for today 7" . 0.0))

37 (J "SHDEBECAAGED Yy IAE—FBEBREALET ™M

[0i 1 (("I the stay for today the room a single with a bath , please" . 6.9444447)
("The room a single with a bath the stay for today , please" . 6.9444447)
("The stay for today the room a single with a bath , please" . 6.9444447)
("For the stay for today the room a single with a bath , please" . 6.9444447)
("The room a single with a bath stay for today , please" . 6.9444447))

[SeoDis] (("The room a single with a bath stay for today , please" . 50683.164))

[SeoSim] (("I the stay for today the room a single with a bath , please" . 3.5032463e-12))

[Sumita] (("For the stay for today the room a single with a bath , please" . 6.66667)
("For the stay for today the rcom single with a bath , please" . 6.66667))

38 (J "~2RLOBWPECLebCHETEET™M
[0i 1 (("We can prepare without the bus room" . 1.4444546)) -
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[SeoDis] (("We can prepare without the bus room" . 498.5255))
[SeoSim] (("We can prepare without the bus room" . 0.021446666))
[Sumita] (("We can prepare a room on without the bus" . 6.7777925)
("We can prepare a room for without the bus" . 6.7777925)
("We can prepare a room without the bus'" . 6.7777925)
("We can prepare a room without the bus" . 6.7777925)
("We can prepare a room of without the bus" . 6.7777925)
("We can prepare without the bus room" . 6.7777925)
("We can prepare without bus room" . 6.7777925))
39 (J "HRloANZBEELLICH D EFTH)
[0i 1 (("Is there the bus there at the cooperation ?" . 0.5)
("Is there there the bus leaving 7" . 0.5)
("Is there there the cooperation bus ™ 0.5)
("Is there the bus there at the cooperation 7" . 0.5)
("Is there there the bus leaving 7" . 0.5)
("Is there there the cooperation bus ?" . 0.5)
("Is there the bus there at the cooperation 7" . 0.5)
("Is there there the bus leaving 7" . 0.5))
[SeoDis] (("Is there the bus the cooperation there ?" . 212.31721)
("Is there the bus the cooperation there 7" . 212.31721)
("Is there the bus the cooperation there 7" . 212.31721))
[SeoSim] (("Is there there the cooperation bus 7" . 0.11111111))
[Sumita]l (("Is there the bus there at the cooperation 7" . 0.5)
("Is there there the bus leaving 7" . 0.5)
("Is there there the cooperation bus ?" . 0.5))

40 (J "H Y EHADPEL KBENRCT T E L TEHDEERCCHEVEEwTWwET™)

[0i 1 (("There isn’t and there is
and it is use to the guest w
[SeoDis] (("There isn’t and there is
and uses to the guest who st
[SeoSim] (("There isn’t and there is
and i am using to the guest
("There isn’t and there is
and i used to the guest who
("There isn’t and there is
and i use to the guest who s
[Sumita] (("There isn’t and there is

and it is use at the guest w

the public bath nearby
ho stays" . 15.861116))
the public bath nearby
ays'' . 125466.8))

the public bath nearby
who stays" . 5.6856096e-33)
the public bath nearby

stays" . 5.6856096e-33)
the public bath nearby
tays" . 5.6856096e-33))
the public bath nearby

ho stays" . 15.611135))

41 (J "AEEEE D 2 vOTTERy FREBVWTWETH")

[0i 1 (("I would like to
[SeoDis] (("I would like to
[SeoSim] (("I would like to
[Sumital (("I would like to

stay this
stay this
stay this
stay this

evening . is a bed available 7" .
evening ,
evening . is a bed available ?"

evening , but is a bed available ?" .

29

but is it a bed available 7" .

. 0.040404044))

0.7222222))

18.583956))

0.6666667)



("I would like to stay this evening . is a bed available 7" . 0.6666667))

42 (J "ABLAADABETLALZBATWET ")
[0i ] nil
[SeoDis] mnil
[SeoSim] nil

[Sumita] nil

43 (J "&EAOTTREG(RBVETH
[0i ] (("Is there the discount as for the member 7" . 1,2777778)
("Is the discount as for the member 7" . 1.2777778)
("Is there the discount as for the member 7" . 1.2777778)
("Is the discount as for the member 7" . 1.2777778)
("Is there the discount as for the member 7" . 1.2777778)
("Is the discount as for the member 7" . 1.2777778))
[SeoDis] (("I the member and is the discount ?" . 166.43417)
("I the member and is the discount 7" . 166.43417)
("I the member and is the discount ?" . 166.43417))
[SeoSim] (("Is there the discount as for the member 7" . 0.0045519206))
[Sumital] (("Is there the discount as for the member 7" . 1.4166666))

44 (J "&BEERFRELTT ")

[0i ] (("Do i have the membership card 7" . 0.33333835)
("Has the membership card ?" . 0.33333835))

[SeoDis] (("Does have the membership card 7" . 50000.395)
("Does have the membership card ?" . 50000.395))

[SeoSim] (("Do i have the membership card ?" . 0.07284375)
("Has the membership card ?" . 0.07284375)) -

[Sumital (("I have the membership card" . 0.35898745))

45 (J "&EFERo T RO TTH ")

[01 1 (("I don’t have the membership card" . 0.7777828)
("I don’t have the membership card' . 0.7777828))

[SeoDisj (("I don’t have the membership card" . 50023.53))

[SeoSim] (("I don’t have the membership card" . 0.05853516)) .

[Sumita] (("I don’t have the membership card" . 0.6923208))

46 (J "SEFRENTCEAOTTRERBETREETEE AL "M

foi 1 (("Forgot the membership card ,
but could you stay at the charge for the member 7" . 5.2222223)
("Forgot the membership card ,
but can you stay at the charge for the member 7" . 5.2222223)
("I forgot the membership card ,
but could you stay at the charge for the member 7" . 5.2222223)
("I forgot the membership card ,
but can you stay at the charge for the member 7" . 5,2222223))
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[SeoDis] (("Forgot the membership card ,
but the member can you stay at the charge ?" . 50485.562))
[SeoSim] (("I forgot the membership card ,
but the member you the charge ?" . 5.720677e-8))
[Sumita] (("I forgot the membership card ,
but can you stay in the fare for the member ?' . 4.9166765)
("I forgot the membership card ,
but can you stay in the charge for the member ?" . 4.9166765)
("I forgot the membership card ,
but can you stay in the fare for the member ?" . 4.9166765)
("I forgot the membership card ,
but can you stay in the charge for the member 7" . 4.9166765))

47 (J "E5TThrhTE2RAOERREICRD ET ")
[0i ] nil
[SeoDis] nil
[SeoSim] nil

[Sumital nil

48 (J "bH D FLAKYEABHYRREL T AEP RV EWT A RSRRLERESCAELET
)

foi ] nil

[SeoDis] nil

[SeoSim] nil

[Sumita] nil

49 J "HPLETEFELEALL)
[0i 1 nil
fSeoDis] nil
[SeoSim] nil

[Sumita] nil

50 (J "EUTHLAANWTT ")
foi 1 nil
[SeoDis] nil
[SeoSim] nil
[Sumita] nil

51 (J "EEIEE&RBHETH")

[0i ] (("Is there the charge for the discount ?" . 1.1666667)
("Is there the charge in the discount ?" . 1.1666667)
("Is there the charge of the discount ?" . 1.1666667)
("Is there the discount 7" . 1.1666667)
("Is the charge for the discount 7" . 1.1666667)
("Is the charge in the discount 7" . 1.1666667)
("Is the charge of the discount 7" . 1.1666667)
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("Is the discount 7" . 1.1666667))

[SeoDis] (("Is the charge
("Is the charge
("Is the charge
[SeoSim] (("Is ?" . 0.0080

the discount 7" . 275.64822)

the discount 7" . 275.64822)

the discount 7" . 275.64822))
03201)

("Is the discount 7" . 0.008003201))

[Sumita] (("Is there the ¢

harge for the discount ?" . 0.8333417))

52 (J "z oEEREoTtwi et A~y MEHEBHES KA S EBEE LA

[0i ] (("Ten percent i
("Ten percent i
("Ten percent i
("Ten percent i
[SeoDis] (("Ten percent i
("Ten percent i

[SeoSim] (("Ten percent i

asked discounts the room charge has had this ticket" . 2.333346)
asked discounts the room charge has this ticket" . 2.333346)

asked discounts the room charge you have had this ticket" . 2.333346)
asked discounts the room charge you have this ticket'" . 2.333346))
would discount you have had this ticket the room charge" . 50308.664)
would discount you have this ticket the room charge" . 50308.664))
asked discounts the room charge has this ticket" . 1.2661654e-5))

[Sumital (("I heard discounts ten percent the room charge has this ticket" . 2.1111479))

53 (J "AZH LDV TN COFRHRONCE>TWEF ")

[0i ] nil
[SeoDis] nil
[SeoSim] nil

[Sumital] nil

54 (J "z ZCHRFAERTFHTE
[0i ] (("Can i reserve
[SeoDis] (("Can i reserve
[SeoSim] (("Can i reserve

[Sumita] (("Can i reserve

55 (J "Fwnr&dET ")

[0i ] (("Yes, i can do"
[SeoDis] (("Yes, i can do"
[SeoSim] (("Yes, i can do"

[Sumita]l (("Yes, i can do"

56 (J "wooEHETFHIENE
[0i 1 (("Do you reserve
("Do you reserve
(""Do you reserve
("Is when is the
[SeoDis] (("Do you reserve
[SeoSim] (("Do you reserve

[Sumita]l (("Do you reserve

e

the hotel in here 7" . 0.3888889))
the hotel on here 7" . 211.27527))
the hotel on here ?" . 0.13793103))
the hotel here 7" . 0.27778113))

. 5.0e-6))
. 5.0e-6))
. 0.999))

. 5.0e-6))

T

at when be the stay 7" . 0.75)

from when be the stay 7" . 0.75)
when be the stay 7" . 0.75)

stay reserve 7" . 0.75))

at when be the stay 7" . 3192.0486))
when be the stay 7" . 0.0052083335))
when be the stay 7" . 0.6944444))

57 (0 "ZAZT—HAREHC—EEECcEETH")
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[0i ] (("*Could i ask for one night on thursday march twenty first ?". .
. 0.5555606))

("Can i ask for one night on thursday march twenty first 7"

[SeoDis] (("Could i ask for one night on thursday march twenty first ?" .
. 255.21524))

("Can i ask for one night on thursday march twenty first 7"

[SeoSim] (("Could i ask for one night on thursday march twenty first 7"
. 0.07302632))

("Can i ask for one night on thursday march twenty first ?"

[Sumita] (("Could i ask for one night on thursday march twenty first ?" .
. 0.27778614))

("Can i ask for one night on thursday march twenty first 7"

58 (J "MEEETTH")

[0i ] (("How many people are you ?" . 0.0))
[SeoDis] (("How many people are you 7" . 0.0))
[SeoSim] (("How many people are you 7" . 1.0))
[Sumita] ((''How many people are you ?" . 0.0))

59 (J "AMCABEWTEEIT ")

[0i ] (("Could i ask for this evening and two people ?" . 1.000005)
("Can i ask for this evening and two people 7" . 1.000005)
("Could i have this evening and two people 7" . 1.000005)
("Can i have this evening and two people 7" . 1.000005)
("Could i ask for two people at this evening ?" . 1.000005)
("Can i ask for two people at this evening ?" . 1.000005))

[SeoDis] (("Could i have two people this evening ?" . 352.74362)
("Can i have two people this evening ?" . 352.74362))

[SeoSim] (("Could i have this evening and two people 7" . 0.005662349)
("Can i have this evening and two people 7" . 0.005662349))

[Sumita] (("Could i ask for this evening and two people 7" . 0.7500075)
("Can i ask for this evening and two people 7" . 0.7500075)
("Could i ask for two pecple at this evening 7" . 0.7500075)
("Can i ask for two people at this evening 7" . 0.7500075))

60 (J "YDXIBEFTFATHIALWTTH")
[oi ] (("What kind of hotel is all right ?" . 0.3888889)
("What kind of hotel is good" . 0.3888889))
[SeoDis] (("What kind of hotel is all right ?" . 413.52005)
("What kind of hotel is good" . 413.52005))
[SeoSim] (("What kind of hotel is all right ?" . 0.14814815)
("What kind of hotel is good" . 0.14814815))
[Sumita] (("What kind of hotel is all right ?" . 0.5)
("What kind of hotel is good" . 0.5))

61 (I "HIAD KT LHANTT )

[oi 1 (("The hotel within the city is good" . 0.3888889)
("The hotel of within the city is good" . 0.3888889)
("Within the city hotel is good" . 0.3888889)
("The hotel within the city is good" . 0.3888889)
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("The hotel of within the city is good" . 0.3888889)

("Within the city hotel is

[SeoDis] (("Wit
("Wit

hin the c
hin the ¢

[SeoSim] (("Within the ¢

("Wit

hin the ¢

[Sumita] (("Within the c

("Wit

hin the c

ity hotel is
ity hotel is
ity hotel is
ity hotel is
ity hotel is
ity hotel is

62 (J "2 AEECTHNRELETTHWNTT ")

[oi 1 (it
("If
[SeoDis] (("If
("It
[SeoSim] (("If
("If
[Sumita] (("If
("If

good"
good"

good" .
. 0.14285715)
. 0.14285715))
. 0.16667369)

good"
good"
good"

good" .

. 0.3888889))

100.34514)
100.34514))

0.16667369))

you yes, clean , where

you yes, clean ,
you yes, clean ,
you yes, clean ,
you yes, clean ,
you yes, clean ,
you yes, clean ,

you yes, clean ,

63 (J "HERFEIB N ADOTTH")

[0i ] (("The
("The
("The

("That is the security one"

("The
("The
("The
("The
("The
[SeoDis] (("The
("The
[SeoSim] (("The
("The
("The
(""The
("The
("The
("The
[Sumital (("The
("The
("The
("The
("The
("The
(""The

security one is
security one is

security one is

security one" .
security one is
security one is
security one is

security one is

where is good" .
where is good"
where is good"
where is good"
where is good" .
where is good"

where is good" .

is good" . '1.000005)

1.000005))

. 712.87555)
. 712.87555))
. 0.0044712275)

0.0044712275))

. 0.8333459)

0.8333459))

good" . 0.6666767)
good" . 0.6666767)
good" . 0.6666767)

0.6666767)

a good thing"
a good thing"
a good thing"
a good thing"

. 0.6666767)

. 0.6666767)
. 0.6666767)
. 0.6666767)
. 0.6666767))

place is the security a good thing" . 166,59451)

place is the security a good thing"” . 166.59451))

security
security

security

place is good" .
place is good"

place is good"

0.07841437)

. 0.07841437)
. 0.07841437)

security place
security place
security place
security place
security one is
security one is
security one is
security one is
security one is
security one is

security one is

is a good thing"
is a good thing"
is a good thing"
is a good thing"
good" . 0.62501)
good" . 0.62501)
good" . 0.62501)
a good thing"
a good thing"
a good thing"
a good thing"
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64 (J "BEli=2—F =2 DERFATCPECECE 72 ERBLATTRH)
[0i 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

65 (J "FAREBKBDLNEL L")

[0i 1 (("Did you meet how be the eye ?" . 2.0))

[SeoDis] (("What kind of eye did you meet ?" . 209.59256))
[SeoSim] (("Did you meet how be the eye ?" . 0.0013176044))
[Sumita] (("To which eye could you meet ?" . 2.282053))

66 (J "+®FAEHARRMP o7 DEBNELLE™")
[0i ] nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

67 (J "2ED XS LAYBITEBBNTVWERATLA")
[0i ] nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

68 (J " FA=YDERBDEHoTATT")
[oi ] nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

69 (J "Hi< AVWREA L LAHCHEE D EVATT ")

[0i ] (("I would like to not stay in the security to a scary place"

[SeoDis] (("I not the security to scary" . 2198.7192))

[SeoSim] (("I would like to not stay in the security to a scary place”

[Sumita] (("I would like to not stay at the security to a scary place"

70 (3 "RETHRIEVATT ")
[0i ] nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

71 Q" CAEY LiekTrddhiETs")
[0i 1 nil
[SeoDis] nil
[SeoSim] nil
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[Sumita] nil

72 (J "NENWARLDRT AR skbnnTT ")
[0i ] nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

73 (J "CTFHEEDL bW EELTrboL+vETH ")
[0i 1 (("Do you think the price range how 7" . 15,037042)
("How do you think apart from the price range ?" . 15.037042))
[SeoDis] (("How do you think apart from the price range ?" . 117122.086))
[SeoSim] (("Will it think how is the price range 7" . 6.544978e-31)
("Will it think how being the price range ?" . 6.544978e-31)
("Is it think how is the price range 7" . 6.544978e-31)
("Is it think how being the price range 7" . 6.544978e-31)
("Does it think how is the price range 7" . 6.544978e-31)
("Does it think how being the price range ?" . 6.544978e-31))
[Sumita] (("How do you think by the price ramnge ?" . 11.58334))

74 J "BRETF LD RRwATT )
[oi 1 (("A standard hotel is good" . 0.8888914)
("A standard hotel is good" . 0.8888914))
[SeoDis] (("The hotel is good" . 501.54108)
("The hotel is good" . 501.54108)
("The hotel is good" . 501.54108)
("The hotel is good" . 501.54108))
[SeoSim] (("A standard hotel is good" . 0.060729485)
("A standard hotel is good" . 0.060729485))
(Sumita] (("A standard hotel is good" . 0.16667917)
("A standard hotel is good" . 0.16667917))

75 (J "BEBEWTWILSTIBL v IATobv A vORRREBLEAEWETH ")
foi 1 (("It seems that i an available room

and do you do tWwo single or a twin room , either ?" . 3.2222323)

("It seems that i an available room

and are you doing two single or a twin room , where 7" . 3.2222323)

("It seems that i an available room

and do you do two single or a twin room , where ?" . 3,2222323)

("It seems that a room i available

and do you do two single or a twin room , either 7" . 3.222323))
[SeoDis] (("It seems that a room i available and a single ,

two or a twin a room would like to you have either 7" . 1023.5547))
[SeoSim] (("It seems that a room i available

and where are you doing two single or a twin a room , ?" . 1.05693564e-6)

("It seems that a room i available
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and where are you doing two single or a twin room , 7" . 1.05693564e-6))

[Sumita] (("It seems that i an available room .

would like to you have two single or a twin room , either 7" . 3.3796504)

("It seems to be an available room .

would like to you have two single or a twin room , either ?" . 3.3796504)

("It seems that a room i available .

would like to you have two single or a twin room , either 7" . 3.3796504))

76 (J "BlEEESOTT R

[0i 1 (("Is the
("Is the
("Is the
[SeoDis] (("Is the
("Is the
("Is the
[SeoSim] (("Is the
("Is the
("Is the
[Sumita] (("Is the
("Is the
("Is the

charge
charge
charge
charge
charge
charge
charge
charge
charge
charge
charge

charge

different
different
different
different
different
different
different
different
different
different
different
different

on

on

?n

il

on

2u

PH

O O O = = =B O O O O O O

.0)
.0)
.0))
.0)
.0)
.0))
.0)
.0)
.0))
.0)
.0)
N

7T 3 " IVAYDEFRL v IRV T vENWELSTT L

[0i ] nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

78 (J "U+BEWHFeBBWLET "

[0i ] (("Well, i would like to have a cheaper one" . 0.33333835))

[SeoDis] (("Well, i would like to have a cheaper one" . 80.375984))
[SeoSim] (("Well, i would like to have a cheaper one" . 0.19028573))

[Sumita] (("Well,

79 (I "EBLvnEHEFHLTLAEEI W)

[0i 1 (("Please

("Please
[SeoDis] (("Please
[SeoSim] (("Please
[Sumita] (("Please

reserve

reserve

reserve

reserve

reserve

either a good one" .
either a better one"

. 8.554353))

either a good one"

either a better one" .

either a better one" .

a cheaper one thank you very much" . 0.22223057))

0.6666667)
. 0.6666667))

0.0020908003))
1.1627094))

80 (J "AA—FLDBBATAEVLSTTHESEIRETE™

[oi 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil
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81 (J "AA— P THIHLWTTHY)
[oi ] (("Is the suite room all right 7" .

("The suite room is good" . 0.44444445))
[SeoDis] (("Is that suite room all right ?" .

("That is the suite room good"

0.44444445)

219.09169)
. 219.09169))

[SeoSim] (("Is the suite room all right 7" . 0.16)
("The suite room is good" . 0.16))
[Sumita] (("Is the suite room all right ?" . 0.5)
("The suite room is good" . 0.5))
82 (J "Bl&ld»h | oTLr5h"
[0i ] (("Is the charge very expensive ?" . 1.2222273)
("Is the charge very expensive thing 7" 1.2222273)
("Is the charge very expensive thing 7" . 1.2222273)
("Is the charge very expensive thing 7" . 1.2222273))
[SeoDis] (("Is the charge very expensive 7" . 121.21453)
("Is the charge very expensive thing 7" . 121.21453)
("Is the charge very expensive thing 7" . 121.21453)
("Is the charge very expensive thing 7" . 121.21453))
[SeoSim] (("Is the charge very expensive ?" . 0.028065553))
[Sumita] (("Is the charge very expensive 7" . 0.8444557))

83 (J "24¥vZrn—ERESbWwTT ")

[0i 1 (("Yes, that is one of single . five about the time" . 2.4444494)
("Yes, that is one of single . five about the time" . 2.4444494)
("Yes, it is one of single . five about the time" . 2.4444494)
("Yes, it is one of single . five about the time" . 2.4444494)
("Yes, one of single . five about the time" . 2.4444494)
("Yes, one of single . five about the time" . 2.4444494))

[SeoDis] (("Yes, it is one of a single . five" . 1214.2164)
("Yes, it is one . five of a single" . 1214.2164))

[SeoSim] (("Yes, it is a single one . five" . 1.1021534e-4)
("Yes, it is a single one . five" . 1.1021534e-4))

[Sumital (("Yes, single one . five" . 1.655579)
("Yes, single one . five" . 1.655579))

84 (J "EDBAFFHLTHIATLHEI N ")

[0i ] nil

[SeoDis] nil

[SeoSim] nil

[Sumital] nil

85 (J "¥xverATELILETTEI W)

[0i ] (("Please hear can cancel" . 2.1111114)

("Please hear can cancel" . 2.1111114))
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[SeoDis] (("Please hear

("Please hear

can cancel" . 381.77167)
can cancel'" . 381.77167))

[SeoSim] (("Please hear can cancel" . 0.0015556552)

("Please hear

can cancel” . 0.0015556552))

[Sumita] (("Please hear can cancel" . 1.7000175))

86 (J "FyrreaAldTE¥ILA")

[0i ] (("We can’t cancel"™ . 1.2222223)
("There can’t cancel" . 1.2222223)
("I can’t cancel" . 1.2222223)
("Can’t cancel" . 1.2222223))

. [SeoDis] (("I can’t cancel" . 44.716774))
[Seo0Sim] (("I can’t cancel' . 0.0771605))
[Sumita] (("I can’t cancel" . 0.6666767))

87 (J "o yEer@dRIHECEEZSTTRESLETH")
[0i ] (("It is hear it is them by the day before the cancellation ,

but how
("It is
but how
("1t is
but how
("It is
but how
[SeoDis] (("It is
[SeoSim] (("It is
("It is
[Sumital (("It is

do i
hear
do i
hear
do i
hear
do 1
hear
hear
hear

hear

do 7" . 4.666667)

it is them bying the day before the cancellation ,

do 7" . 4.666667)

he-she is them by the day before the cancellation ,
do 7" . 4.666667)

them by the day before the cancellation ,

do 7" . 4.666667))

them by the day before the cancellation . how does 7"

them by the day before the.cancellation . how do i do 7"
them by the day before the cancellation . how i will do"

it is them bying the day before the cancellation .

how do you do ?" . 4.083356)

("It is hear it is them bying the day before the cancellation .
how do i do 7" . 4.083356)
("It will be cancelling by the day before . how do you do 7" . 4.083356)

. 18365.666))

. 5.883949¢-7)
.. 5.883949e-7))

("It will be cancelling by the day before . how do i do ?" . 4.083356))

88 (J "FHILAWTLZEEW")

[0i 1 nil
[SeoDis] nil
[Se0Sim] nil
[Sumita] nil

89 (J "MukBk-TdbiETH")

[oi 1 (("Would you hit other 7" . 1.2222222))
[SeoDis] (("Would you hit other ?" . 68.14629))
[SeoSim] (("Would you hit other ?" . 0.0052180625))
[Sumita] (("Would you hit other ?" . 1.6305555))
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90 (J "B AZRBBHLINE S DENTWETETH ")
[oi 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

91 (J "B3E5TT™

[0i ] (("I hear is them'" . 0.44444445))
[SeoDis] (("I hear is them" . 4.229762))
[SeoSim] (("I hear is them" . 0.3))
[Su.mitaj (("Will be" . 0.8333333))

92 (J "JizrkETHLISLOBEAELLSDHY
[0i ] nil
[SeoDis] nil
[SeoSim] nil
[Sumita] nil

93 (J "BEAAZREDHELHATHELL S
[oi 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

94 (J "BEHWLET™

[oi 1 (("Thank you very much" . 0))
[SeoDis] (("Thank you very much" . 0))
[SeoSim] (("Thank you very much" . 1))
[Sumital (("Thank you very much" . 0))

95 (J "brle LOARIRILUETT ")
[oi 1 (("My name is yamada" . 0.5)

("My name is yamada" . 0.5))
[SeoDis] (("My name is yamada" . 240.4363))
[SeoSim] (("My name is yamada" . 0.125))
[Sumita] (("My name is yamada" . 0.5)

("My name is yamada" . 0.5))

96 (J “ARHETH LA ETH")

[oi 1 (("Would you come 7" . 1.6944445)
("Would you come it 7" . 1.6944445))

[SeoDis] (("Would you come 7" . 4915.8677))

[SeoSim] (("Would you come 7" . 9.8931557e~4))

[Sumita] (("Would you come 7" . 1.5722222))

97 (J "ShbIT DB BEBIELESTT™
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[0i ] (("I hear arrives them at the airport thirty minutes later from now"

1.2777778)

("I will arrive at the airport thirty minutes later from now" . 1.2777778))

[SeoDis] (("I hear arrives them at the airport to thirty minutes later from now"

[SeoSim] (("I hear arrives them at the airport at thirty minutes later from now"

[Sumita] (("I hear arrives them at the airport at thirty minutes later from now"

98 (J "Shb—REEICHLAICRTYbAETH™
[0i 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

99 (J "RfEDI/ERTERWESTTH")
[oi ] (("I hear the time can’t reserve them" . 2.6666718)

("I hear can’t reserve them the time" . 2.6666718))
[SeoDis] (("I hear can’t reserve them the time" . 300.53406))
[SeoSim] (("I hear can’t reserve them the time" . 3.5796964e-4))
[Sumita] (("I can’t reserve the time" . 3.129637)

("I can’t reserve the time" . 3.129637))

100 (J "Xz TEoTwhifvnneth")
[oi ] nil
[SeoDis] nil
[SeoSim] nil
[Sumital nil

101 (3 "ZBRFHTY v PAANIRIBB LD TR>TWTFENR")
[oi 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

102 (3 "ED X5 % NRTTR")

[0i 1 (("What kind of bus 7" . 1.0))

[SeoDis] (("What kind of bus 7" . 26.448795))
[SeoSim] (("What kind of bus is it ?" . 0.0989418))
[Sumita] (("What kind of bus is it 7" . 0.6666767))

103 (J "FraNZTF 1)

[0i 1 (("A red bus" . 1.0))

[SeoDis] (("It is a red bus" . 41.718742))
[SeoSim] (("A red bus" . 0.028441302))
[Sumita] (("It is a red bus" . 0.33334836))

104 (J "FSFALDEREF->TEE5EDTROGTTFEWw")

127.49166))

. 0.03939394))
. 0.93650734))

[0i 1 (("It seems that the sign in the hotel has had , so please find" . 2.2222223)
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("It seems that the sign of the hotel has had , so please find" . 2.2222223)
("It seems that the sign in the hotel has , so please find" . 2.2222223)
("It seems that the sign of the hotel has , so please find" . 2.2222223)
("It seems that the sign in the hotel has had , so please find" . 2.2222223))
[SeoDis] (("It seems that the sign of the hotel has had . please find" . 223.06296)
("It seems that the sign of the hotel has . please find" . 223.06296))
[SeoSim] (("It seems that the sign in the hotel has , so please find" . 1.566416e-4)
("It seems that the sign of the hotel has , so please find" 1.566416e-4))
[Sumital (("It seems that the sign of the hotel has . please find" . 2.1740036)
("It seems that the sign of the hotel has . please find it" . 2.1740036))
105 (J "EEHAFTLAEEW")
foi 1 (("Please give the voice" . 0.3888889)
("Please give the voice" . 0.3888889))
[SeoDis] (("Please give the voice" . 0.6880953))
[SeoSim] (("Please dial the voice" . 0.16666667)
(""Please make the voice" . 0.16666667)
("Please give the voice"” . 0.16666667))
[Sumital (("Please dial the voice" . 0.5)
("Please make the voice" . 0.5)
("Please give the voice" . 0.5))
106 U "eyFdETrtBHiDTTIbRELERETL")
[0i 1 (("Is lotte hotel , so i will think you will find soon" . 0.3888939)
("Is lotte hotel , so i will think you will find soon" . 0.3888939)
("Is lotte hotel , so i think you will find soon" . 0.3888939)
("Is lotte hotel , so i think you will find soon" . 0.3888939))
[SeoDis] (("Is lotte hotel , so i will think you will find soon" . 310.34573)
("Is lotte hotel , so i will think you will find soon" . 310.34573)
("Is lotte hotel , so i think you will find soon" . 310.34573)
("Is lotte hotel , so i think you will find soon" . 310.34573))
[SeoSim] (("Is lotte hotel , so i think you will find soon" . 0.041625)
("Is lotte hotel , so i think you will find soon" . 0.041625))
[(Sumita] (("There is one lotte hotel , so i think you will find soon" . 0.500005)

("There is

107 Q"B BELS5TETELA")
[oi ] (("Thank you very much"
[SeoDis] (("Thank you very much"
[SeoSim] (("Thank you very much"

[Sumita]l (("Thank you very much"

one lotte hotel , so i think you

0))

.0

)

.0

108 (J "wFATEMEZSLE DR T5H")

[0i

("If tells the name at the hotel , i know"

1 (("If tells the name at the hotel , do you know ?"

[SeoDis] (("If tells the name at the hotel , do you know ?"
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will find soon"

. 0.500005))

. 0.94444454)
. 0.94444454))
. 75.230965)



(“If
[SeoSim] (("If
("If
[Sumita] (("If
("It
("If
("1f

tells the name at the hotel , i knmow" . 75.230965))

tells the name at the hotel , do you know 7" . 0.005982907)
tells the name at the hotel , i know" . 0.005982807))

tells the name at the hotel , do you know 7" . 1.4055605)
you tell the name at the hotel , do you know 7" . 1.4055605)
tells the name at the hotel , i know" . 1.4055605)

you tell the name at the hotel , i know" . 1.4055605))

109 (J "bhd EtEWETM")

[0i 1 ("1
("I
("I
(1
[SeoDis] (("I
("I
"I
("1
[SeoSim] (("I
("I
[Sumital] (("I
("I

will think you will know" . 0.0)
will think you know" . 0.0)
think you will know" . 0.0)
think you know" . 0.0))

will think you will know" . 0.0)
will think you know'" . 0.0)
think you will know" . 0.0)
think you know" . 0.0))

think you will know" . 1.0)
think you know" . 1.0))

think you will know'" . 0.0)
think you know" . 0.0))

110 J "z b b HZERABTIOF =2TLAE")

[0i 1 (("Yo
("Yo

u are the airport cho of the information center" . 2.055558)

u are the airport the information center cho" . 2.055558)

("The airport this is cho of the information center" . 2.055558)

("The airport this is the information center cho" . 2.055558))

[SeoDis] (("Yo

u are cho of the information center the airport" . 50611.406)

("This is cho of the information center the airport" . 50611.406))

[SeoSim] (("The airport this is cho of the information center" . 3.15503%e-4))

[Sumita] (("This is cho of the airport , the information center" . 1.4444544)

("This is cho of the information center from the airport" . 1.4444544)

("This is cho of the information center in the airport" . 1.4444544))

111 (J "BZEO50T™
[0i ] (("Have a nice trip" . 0))

[SeoDis] (("Have a nice trip" . 0))

[SeoSim] (("Have a nice trip" . 1))

[Sumital ((''Ha

ve a nice trip" . 0))

112 (J “FERRRCTMILTEEELE"

foi 1 ("1
("1
("I
("I
("1

reserved for mr-ms. ito" . 1.5)

reserved for mr. ito" . 1.5) '
reserved for ms. ito" . 1.5)

reserved in mr-ms. ito" . 1.5)

reserved in mr. ito" . 1.5)
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("I reserved in ms. ito"” . 1.5)

("I reserved on mr-ms. ito" . 1.5)

("I reserved on mr. ito" . 1.5)

("I reserved on ms. ito" 1.5)

("I reserved mr-ms. ito" . 1.5)

("I reserved mr. ito" . 1.5)

("I reserved ms. ito" . 1.5))
[SeoDis] (("Mr-ms. ito was reserve" . 3916.354)

("Mr. ito was reserve" . 3916,354)

("Ms. ito was reserve" -. 3916.354))

[SeoSim] (("I reserved on mr-ms. ito" . 0.0014619884)
. 0.0014619884)

. 0.0014619884))
[Sumita] (("Mr-ms. ito was reserve" . 0.16669168)

. 0.16669168)

.- 0.16669168))

("I reserved on mr. ito"

("I reserved on ms. ito"
("Mr. ito was reserve"

("Ms. ito was reserve"

113 (J "E5XRwKE ")
[0i ] nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

114 J "X DFTATHES LT L E2DTTH ")
[oi 1 (("will
[SeoDis] (("Will
[SeoSim] (("Will
("will
("Will

you have someone discount in the hotel 7"
you have someone discount in the hotel 7"
they have someone discount at the hotel 7"
the hotel have someone discount 7"

i have someone discount at the hotel ?"

10.500006))

. T7744.78))

. 2.5587052e-21)
. 2.5587052e¢-21)
. 2.5587052¢-21)

("Will
("will
("Will
[Sumita] (("Will

. 2.5587052e-21)

you have someone discount at the hotel ?" . 2.5587052e-21)
. 2.5587052e-21))

. 10.416672))

the hotel have someone discount 7"

the hotel have someone discount 7"

you have someone discount in the hotel 7"

115 (J "S5l LAVEERVwETY)

i 1 ("I
"I
("I
("I
("I
"I
("I
"1
("1
("I

[seoDis] (("I

will think doesn’t discount"
will think you won’t discount" .
will think you don’t discount" .
won’t discount" .
will think it doesn’t discount" .
think doesn’t discount" .
think you won’t discount" .
think you don’t discount”
won’t discount" .
think it doesn’t discount" .

won’t discount"

. 1.0)
1.0)
1.0)
1.0)

1.0)
1.0)

1.0)

. 1.0)

1.0)

1.0))
103.25053)
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("I w
[SeoSim] (("I t
"It
"It
("I w
("It
[Sumital (("I t

on’t discount” . 103.25053))

hink doesn’t discount" . 0.09)

hink you won’t discount" . 0.09)

hink you don’t discount" . 0.09)

on’t discount" . 0.09)
hink it doesn’t discount'

hink doesn’t discount"

. 0.09))
. 0.70000005))

116 (J "ZHBRECREEHYEB LT 32 d LHELADTEEHLTHATLEI W)

[0i 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumital] nil

117 (3 "#BFHE
[0i 1 (("Is
("Is
("Is
("Is
("Is
("Is
[SeoDis] (("Is
("Is
("Is
[SeoSim] (("Is
[Sumital (("Is

HhETn")

there the discount ticket 7"
the discount ticket 7"
there the discount ticket 7"
the discount ticket 7"
there the discount ticket ?"
the discount ticket 7"
there the discount ticket ?"
there the discount ticket 7"
there the discount ticket 7"
there the discount ticket ?"

the discount tickets 7'

. 0.44444445)
. 0.44444445)

. 0.44444445)
. 0.44444445)

. 0.44444445)
. 0.44444445))

. 46.326923)
. 46.326923)
. 46.326923))
. 0.24))

. 0.2777828))

118 (J "CZorFAOHEGFEFHHEACEETH")

[0i 1 (("Can
("Can
("Can
("Can
("Can
("Can
[SeoDis] (("Can
("Can
[SeoSim] (("Can
("Can
[Sumita] (("Can

(ucan

i
i

i

use

use

use

use

use

use

use

use

use

use

use

use

119 (J "FlHCcEE+™

[0i 1 (("I can use" .

[SeoDis] (("I can use"

[SeoSim] (("I can use"

[Sumita] (("I can use"

this discount ticket in the
this discount ticket of the
this discount ticket of the
the discount ticket in this
the discount ticket of this
the discount ticket of this
this discount ticket of the
the discount ticket of this
this discount ticket of the
the discount ticket of this
this discount ticket in the

the discount ticket in this

0.33333334))
. 6.1002164))
. 0.3181818))
. 0.33333334))
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hotel
hotel
hotel
hotel
hotel
hotel
hotel
hotel
hotel
hotel
hotel
hotel

?ll
?ll
?ll
n
N

rall

?ll
n
?ll
?H

2n

. 0.8888939)
. 0.8888939)
. 0.8888939)
. 0.8888939)
. 0.8888939)
. 0.8888939))

185.48193)

. 185.48193))

. 0.035028048)
. 0.035028048))
. 0.33335337)

. 0.33335337))



120 (J "HfBAEVWOTEWTHAEWEDH D EEA ")

[0i

[SeoDis] (("A missing date , so
[SeoSim] (("The date is missing ,
[Sumita]l (("Don’t have the date ,

] (("A missing date , so

so 1 won’t hear"

i don’t know you don’t hear' .
i don’t know you don’t hear"

so 1 don’t know you don’t hear” .

1.1111112))
199.0773))
8.797655e-4))

1.3428657))

121 (J "ES5EFRTFATHERAET o TLEEW)

[0i ] (("Please present me at the hotel" . 14.361111))
[SeoDis] (("Please present me at the hotel" . 116322.01))
[SeoSim] (('"Please present me at the hotel" . 1.5526854e-15))
[Sumita] (("Please present me at the hotel" . 16.666668))

122 (J "FRIERC L AEVRY AEAFIEWTD LA ET ™)
[0i 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

123 (3 "H5lRT & ws e ES5ws  eTTn')
[oi 1 (("1f
("If
("If
("If
("If
[SeoDis] (("If
("If
("It
("It
[SeoSim] (("If
("It
("If
("If you
[(Sumital (("If i
("If i
("If 1
("If i
("If i
("If i
("If i

you are a special thing , what sort
you are a special thing , what sort
i am a special thing , what sort of
i am a special thing , whét sort of

you are a special thing , what sort of a

you are a special thing , what sort of a

you are a special thing , what sort of a

you are a special thing , what sort of a

you are a special thing , what sort of a

what sort of
of
of
of

?n

you are special ,

you are special , what sort a thing

you are special , what sort a thing

what sort a thing it" .

. 36.875004)

are special ,
special , which a thing i
special , what sort of a thing i 7" .
special , which a thing will you 7"
special , what sort of a thing will you ?"
special , which a thing you 7"
special , what sort of a thing you 7" .
special , which a thing at ?"
124 (3 "EREEBILEVELHbBDET ")
[0i
("There is also the weekend the
("There is also the place where

("There is also the weekend the
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of a thing
of a thing
a thing 7"
a thing is
thing
thing
thing
thing
thing
a thing it 7" .
is it 7

it is'" .

. 36.875004)
36.875004)
. 36.875004))

1 (("There is also the place where i don’t discount the weekend"
place where i don’t discount"
i don’t discount the weekend"

place where i don’t discount"

1.3888938)
is it 7" . 1.3888938)
1.3888938)
. 1.3888938)
it is" . 1.3888938))
. 401.15173)
it ?" . 401.15173)
is" . 401.15173)
. 401.15173))
1.9766524e-4)
1.9766524e-4)
1.9766524e-4)
1.9766524e-4))

it 7"

it 7
it 7
is
it

itH

36.875004)
. 36.875004)

. 36.875004)

1.7777779)
1.7777779)
1.7777779)
1.7777779))



[SeoDis] (("There is also the place which i don’t discount the weekend" . 444.9778)
("There is also the place which i don’t discount the weekend" . 444.9778))

[SeoSim] (("There is the place where i don’t discount the weekend" . 7.231406e-4))

[Sumital] (("There is also the place where doesn’t discount at the weekend" . 1.7000049))

125 (J "BATW2 2EGRLEHA™)

[0i 1 (("I not discount crowded" . 2.0))
[SeoDis] (("I not discount crowded" . 1175.3185))
[SeoSim] (("I not discount crowded" . 0.012857145))
[Sumital (("Not discounts crowded" . 1.7222223))

126 (J "®2OFFTAEFCOHKCREC b~AIKEY ETH™
[0i ] nil
[SeoDis] nil
[SeoSim] nil
[Sumita] nil

127 3 "zod@dhTE™

[0i ] (("It is this around" . 5.0e-6))
[SeoDis] (("It is this around" . 5.0e-6))
[SeoSim] (("It is this around" . 0.333))
[Sumital (("It is this around" . 1.4999999%e-5))

128 (J "d 5D LR LM EBd bl EL x 55"
[oi 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

129 (3 "5 HLAST IS h EEA ")
[0i 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

130 (J "z oHEE S TR Tt ")
[0i 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

131 (3 "ES5FELEFET™
[0i 1 nil
[SeoDis] nil
[SeoSin] nil

[Sumita] nil
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132 (J "FFAEBEN L TCELEEZWDOTTHE")

foi 1 (("I would like you to recommend me
[SeoDis] (("I would like you to recommend me
[SeoSim] (("I would like you to recommend me

[Sumital (("I would like you to recommend me

133 J "EAARTARBHELTTS ")
[0i 1 (("What kind of hotel do i look for
("Which hotel do i look for 7" . 1
("What kind of hotel i look for" .
("Which hotel i look for" . 1.22222
[SeoDis] (("Which hotel do i look for 7" . 62
("Which hotel i look for" . 627.543
[SeoSim] (("Which hotel do i look for ?" . O.
("Which hotel i look for" . 0.04985
[Sumita] (("What kind of hotel will you look
("What kind of hotel do you look fo
("What kind of hotel looks for 7"
("What kind of hotel i look for"

the hotel" . 0.33333835))
the hotel” . 137.44586))
the hotel" . 0.29486394))
the hotel" . 1.0e-5))

T, 1,2222272)

.2222272)

1.2222272)

72))

7.5436)

6))

04985935)

935))

for 7" . 1.3333384)
r 7" . 1.3333384)

. 1.3333384)
. 1.3333384))

134 (J "V YABRDLBREALEWFTARELTRET")

[oi 1 (("I am looking for close , if possible from the seoul station
("I am looking for close , if possible from the seoul station

[SeoDis] (("I am looking for close , if possible from the seoul station

[Seo8im] (("I am looking for close , if possible from the seoul station

[Sumital (("I am looking for close , if possible from the seoul station

135 (J "HORDMBKH 2 HTAEBALTLEE W)

the hotel"
the hotel"
the hotel"
the hotel"”
the hotel"

[0i ] (("Please arrange the hotel which is located in the central city" . 1.5)

("Please arrange the hotel which is located in the central city" . 1.5)

("Please arrange me the hotel which is located in the central

[SeoDis] (("Please arrange the hotel which is located in the central of

[Seo8im] (("Please arrange the hotel which is located in the central city" .

("Please arrange the hotel which is located in the central city" .

[Sumital (("Please arrange me the hotel which is located in the central

136 (J "HEwnkFAEnnATT ")

. 0.33333334)
. 0.33333334))
137.2792)
137.2792))

. 0.29545453)
. 0.29545453))
. 0.250005)

. 0.250005))

[oi 1 (("A cheap hotel is good"
("A cheap hotel is good"
[SeoDis] (("A cheap hotel is good" .
("A cheap hotel is good"
[SeoSim] (("A cheap hotel is good"
("A cheap hotel is good"
[Sumital (("A cheap hotel is good"
("A cheap hotel is good"
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city" . 1.5))

. 573.9109))
0.012311481)
0.012311481))

the city"

. 0.6666717)

0.6666717))
147.78514))

. 0.029662777))
. 0.350015))

city" . 0.8333384))



137 (J "BED~<v vy ZvhbERLTWwAEL TERFTFARANTT )

[0i ] nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

138 (J "FhTluy FEATFAR R EENET")

[0i ] (("Well, i will think lotte hotel is good" . 5.0e-6)
("Well, i think lotte hotel is good" . 5.0e-6))

[SeoDis] (("Well, i will think lotte hotel is good" . 5.0e-6)
("Well, i think lotte hotel is good" . 5.0e-6))

[SeoSim] (("Well, i think lotte hotel is good" . 0.333))

[Sumital] (("Well, i think lotte hotel is good" . 1.0e-5))

139 (J "myFaFarldahwvweih")

[oi 1 nil

[SeoDis] nil

[SeoSim] nil

[Sumita] nil

140 (J "By FHTALDBBNTREZA")

[oi 1 nil

[SeoDis] nil

[SeoSim] nil

[Sumita] nil

141 QJ "X 0*FAOBFESZEFHLTTE V")

[0i ] (("Please tell the telephone number of the hotel" . 5.0e-6)
("Please tell me the telephone number of the hotel" . 5.0e-6)
("Please tell the telephone number of the hotel" . 5.0e-6)
("Please tell me the telephone number of the hotel" . 5.0e-6))

[SeoDis] (("Please tell the telephone number of the hotel" . 5.0e-6)
("Please tell me the telephone number of the hotel" . 5.0e-6)
("Please tell the telephone number of the hotel" . 5.0e-6)
("Please tell me the telephone number of the hotel" . 5.0e-6))

[SeoSim] (("Please tell the telephone number of the hotel" . 0.999)
("Please tell me the telephone number of the hotel" . 0.999)
("Please tell the telephone number of the hotel" . 0.999)
("Please tell me the telephone number of the hotel" . 0.999))

[Sumita] (("Please tell the telephone number of the hotel" . 5.0e-6)
("Please tell me the telephone number of the hotel" . 5.0e-6)
("Please tell the telephone number of the hotel" . 5.0e-6)
("Please tell me the telephone number of the hotel" . 5.0e-6))

142 (J "ZDFETFTADAVIZLy Y Bbr s ¥R ETOTESE")
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1 (("There
("There
("There
(“There

[SeoDis] ((''There

("There
("There
(""There
[SeoSim] (("There
("There

[oi

[Sumita] (("There
("There

is
is
is
is
is
is
is
is
is
is
is

is

the pamphlet at the hotel
the pamphlet at the hotel
a pamphlet at the hotel ,
a pamphlet at the hotel ,
the pamphlet of the hotel
the pamphlet of the hotel
a pamphlet of the hotel ,
a pamphlet of the hotel ,
the pamphlet of the hotel
a pamphlet of the hotel ,
the pamphlet at the hotel
a pamphlet at the hotel ,

, S0 please'" ,

, S0 please' .

so please" .

so please’ .

, S0 please" .
, S0 please" .

. 551,7338)

so please"

so please' .

, S0 please" .

so please' .

, S0 please" .

. 7.0833435))

so please"

143 (J "t B L IHPBEEETERATILATEAD")

[0i 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

144 (J "BEVEL A nFTAEANLTLEE W)

[0i 1 nil
[SeoDis] nil
[SeoSim] nil

[Sumita] nil

145 J "—ETHY + VHTFo&7Fr@ddbh £+5")

[0i 1 nil
[SeoDis] nil
[SeoSim] nil

{Sumita] nil

146 (J "< XABDEFL )

[oi

1 ("It many" .
0.2777828))

(”Ma.ny” .

[SeoDis] (("It many" .
15.910038))

("Many” .

[SeoSim] (("There is many"

("Is many"

. 0.27245456))

("Ma.ny"

[Sumital (("Is many" .
0.22222723))

("Ma.ny" .

0.2777828)

15.910038)

. 0.27245456)
. 0.27245456)

0.22222723)

1.7777828)
1.7777828)
1.7777828)
1.7777828))
551.7338)
551.7338)

£51.7338))

7.0833435)

147 (J "bx o tHLNELOHNTVWETHRI T T vRFAFIESTLES ")

[0i 1 nil
[SeoDis] nil
[Se0oSim] nil
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0.0013117122)
0.0013117122))



[Sumita] nil

148 (J "7 79 vy FARCHERTT )

[0i 1 (("Is crown hotel in know ?" . 1.0555606)
("Is crown hotel in know 7" . 1.0555606)
("Is crown hotel in know 7" . 1.0555606)
("Is crown hotel in know 7" . 1.0555606))
[SeoDis] (("Is know crown hotel 7" . 159.80458)
("Is know crown hotel 7" . 159.80458))
[SeoSim] (("Is crown hotel in know ?" . 0.0259)
("Is crown hotel in know 7" . 0.0259)
("Is crown hotel in know 7" . 0.0259)
("Is crown hotel in know 7" . 0.0259))
[Sumita]l (("Do you know crown hotel 7' . 0.29168668))
149 (J "mb FEA ")
[oi 1 (("I don’t know" . 0.0))
[SeoDis] (("I don’t know" . 0.0))
[SeoSim] (("I don’t know" . 0.33333334))
[Sumita] (("I don’t know" . 1.0e-5))
150 (J "—igwL bTTH")
[oi ] (("How much is it for ome night ?" . 0.0))
[SeoDis] (("How much is it for one night 7" . 0.0))
[SeoSin] (("How much is it for ome night 7" . 0.33333334))
[Sumita] (("How much is it for ome mnight ?" . 0.33333334))

161 (J "y v 7A@ noTTEYAL rTTHh ARGV v bnTi ")

[0i

it is sixty thousand won"

1] (("There isn’t a single is a twin and but,

. 32.500004)

("There isn’t a single is a twin and but,

it is about sixty thousand won"

. 32.500004)

("There isn’t a single is a twin and but,

around sixty thousand won it is" .
("There isn’t a single is a twin
it is around sixty
[SeoDis] (("A missing single
("4 missing single
("A missing single

("A missing single

is
is
is

is

a

a

a

a

32.500004)
and but,
thousand won" . 32.500004))
twin and but, that is sixty thousand won" . 250436.1)
twin and but, that is about sixty thousand won" . 250436.1)
twin and but, around sixty thousand won that is" . 250436.1)
twin and but, that is around sixty thousand won" . 250436.1))

[SeoSim] (("There isn’t a single a thing is a twin and but,

that

("There

that

("There

around sixty thousand won that is" .

is

is

sixty thousand won" .

about sixty thousand won' .

1.1473633e-33)

isn’t a single a thing is a twin and but,

1.1473633e-33)

isn’t a single a thing is a twin and but,

1.1473633e-33)
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("There isn’t a single a thing is a twin and but,
that is around sixty thousand won" . 1.1473633e-33))

[Sumita]l (("A single missing , but a twin and but, it is about sixty thousand won" . 1.8611445)
("A single missing . a twin and but, it is about sixty thousand won" . 1.8611445)

("A single missing and a twin and but, it is about sixty thousand won" . 1.8611445))

152 (J "fiiccBERB D 55 ")

[0i ] (("Is there any other request ?" . 0.22222723)
("Is there any other request 7" . 0.22222723)
("Is there any other request ?" . 0.22222723))
[SeoDis] (("Is there any other request 7" . 7.780957)
("Is there any other request ?" . 7.780957)
("Is there any other request 7" . 7.780957))
[SeoSim] (("Is there any other request 7" . 0.22704546))
[Sumita] (("Is there any other request 7" . 0.33334336))

153 (J "z oA @dd ) ECABD UBRABTCLAbB D T L")

[0i J (("There isn’t this near and it is a little the place where left'" . 1.3888988)
("There isn’t this near and it is a little on the place where left" . 1.3888988)
("There isn’t this near and is a little the place where left" . 1.3888988)
("There isn’t this near and is a little on the place where left" . 1.3888988))

[SeoDis] (("There isn’t this near and it is a little in the place where left" . 209.6681)
("There isn’t this near and is a little in the place where left" . 209.6681))

[SeoSim] (("There isn’t anything else .
is a little in the case of the place where left" . 1.1514734e-4))

[Sumita] (("There isn’t this near and is a little in the place where left" . 1.5111477)
("There isn’t this near and a little" . 1.5111477))

184 (J "E¥D bwngEnpTyh")

[0i 1 (("How is it far 7" . 6.0))

[SeoDis] (("How is it far 7" . 50000.0))
[SeoSin] (("How is it far 7" . 1.4012985e-10))
[Sumita] (("How is it far 7" . 0.26666668))

1585 I " b=t bk ™)

[0i 1 (("It will take about thirty minutes from here" . 0.0))
[SeoDis] (("It will take about thirty minutes from here" . 0.0))
[SeoSim] (("It will take about thirty minutes from here" . 1.0))
[Sumita] (("It will take about thirty minutes from here" . 0.0))

156 (J "ZZIRZTHLED IS KL TITHE Ty

[0i J (("Could i go there ?" . 1.2777778)
("Could i go how doing from here there ?" . 1.2777778)
("Could i go from here there ?" . 1.2777778)
("Could i go how doing from here there ?" . 1.2777778)
("Could go from here there" . 1.2777778)
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("Could go how doing from here there" . 1.2777778))

("I could go from here there" . 1.2777778)

("I could go how doing from here there" . 1.2777778)
[SeoDis] (("Could i go there ?" . 216.4107) V

("Could go there” . 216.4107)

("I could go there" . 216.4107))
[SeoSim] (("How could i do and go from here there ?" . 0.022727273)

("How i could do and go from here there" . 0.022727273))
[Sumital (("Could i go how doing from here there 7" . 1.1944454)

("I could go how doing from here there" . 1.1944494))

157 (J "HnTTFR ")
[pi 7 ail
[SeoDis] mnil

[SeoSim] nil

[Sumital nil

158 (J "W 2 BECT ")

[0i ] (("No, it is the train" . 0.44444945))
[SeoDis] (("No, it is the train" . 55.333336))
[SeoSim] (("No, it is the train" . 0.32110715))
[Sumita] (("No, it is the train" . 1.4999999e-5))
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